[ Efficiency vs vertpos |

- 0.1
20.09
2
20.08
(&)
50.07
O
£0.06
0.05
0.04
0.03
0.02f14«

0.01--

.¢-' I

=
———

0.8 = A 3
1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom

Effici —e— DQM_pixelCPE_step2_ttbar-phasel-newgeom
iclend _, DQM_pixelCPEAndChi2_step2_ttbar-phasel-newgeom

.........................

%3~ =20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.05
>
00.045
S
#0-04
$.035
)
£0.03
Q
9.025
()
0.02
0.015
0.0%---+ : : : :
Y11 S S S
[ T TR TV T PO T

Ratio

1.1

iy

o
©
TTT

|
N

10 1520
Sim. PV z (cm)



	Contents
	Page 1


